Find the equation of the circle which touches the both axes in first quadrant and whose
radius is a.

So, the equation of rcquircd circle is:

{x a’+(y-a)=d
= x —I!mc+az+y2—2a:zy+a:12=f.z2
= x2+y2-2ax-2ay+az={]

4. Find the equation of the circle which touches x-axis and whose centre is (1, 2)
Sol: Given that, circle with centre (1,2) touches x-axis.

Radius of the circle is, r =2

So, the equation of the required circle is:

(x=D2+(y-2p2=2

=>x2-2x+1+y>-4y+4=4

=>X2+y?—-2x-4y+1=0

6. Find the equation of a circle which touches both the axes and the line 3x —4y + 8 =0 and
lies in the third quadrant. [Hint: Let a be the radius of the circle, then (- a, — a) will be centre
and perpendicular distance from the centre to the given line gives the radius of the circle.]

a;8=ia

= at+8=5aora+8=-5a
= a=2ora=-4/3

. a=2

So, the equation of the required circle is:
(x+27+(y+2)2=2
= X+ HAx+ay+4=0



48. Equation of a circle which passes through (3, 6) and touches the axes is
(a) ¥’ +)y*+6x+6y+3=0 (b) ¥+ —6x—6y-9=0
(c) x2+y2-6x—6y+9=0 (d) none of these
Sol. (c) Given that the circle touches both axes.
Therefore, equation of the circle is:(x — a)* + (v — a)’ = a*
Circle passes through the point (3, 6).
(3-ay+(6-a)P’=ad’
= a*—18a+45=0 = (a-3)a-15)=0
a=3,a=15
For a = 3, the equation of circle is:
(x-3)+@y-37%=9
= x3+y2—6x—6y+9=ﬂ



